26. A common resource is

& Poll locked. Responses not accepted.

A) rival and either excludable
or nonexcludable.

B) excludable and either rival
or nonrival. 10%

C) rival and excludable.

D) rival and nonexcludable.

E) nonexcludable and either
rival or nonrival.
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27. An economy's marginal social benefit curve for a private

good is obtained by summing the individual marginal .

& Poll locked. Responses not accepted.

A) cost curves -
horizontally. 26%

B) cost curves vertically. 21%

D) benefit curves

vertically. 18%

C) benefit curves
horizontally

E) benefit curves
diagonally. 3%
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28. If the marginal social cost of producing a public good is

greater than the marginal social benefit, then

& Poll locked. Responses not accepted.

B) less than the efficient quantity of ;
the public good is being produced. 45%

A) more than the efficient quantity of
the public good is being produced.

C) the efficient quantity of the .
public good is being produced. 3%

D) the public good is being produced
by a private firm.

E) the public good must be a common
resource.
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29. Governments provide public goods such as national

defence because

& Poll locked. Responses not accepted.

A) governments are more efficient than A
private firms at producing public goods. 39%

B) of the free-rider problem, which results
in underproduction by private firms.

C) people do not value national defence
very highly.

D) of the potential that private firms will |
make excess profit. 16%

E) of external costs.
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29. Common resources are overused because

& Poll locked. Responses not accepted.

A) the marginal private benefit of
operating a boat is the quantity of 19%
fish a boat can catch.

B) the social benefits outweigh the

private benefits. 6%
C) the marginal private benefit will b;
always exceed the marginal social cost. 47%

D) external costs are not considered.

E) social costs are controlled by ;
production quotas. 3%
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30. The tragedy of the commons is the absence of incentives

to

& Poll locked. Responses not accepted.

A) reduce marginal cost of :
common resources. || 370

B) prevent underuse of i
common resources. i 370

C) prevent overuse of
common resources.

D) discover new common i
resources. [l 3%

E) export wool in
sixteenth-century England.
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31. ) Afirm's goalis to

& Poll locked. Responses not accepted.

A) maximize revenue. || 3%

B) maximize cost while
minimizing revenue.

D) minimize costs.

E) minimize risk.
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32. ) Economic profit equals total revenue minus

& Poll locked. Responses not accepted.

A) the cost of resources
bought in the market.

B) the implicit rental
rate.

C) the opportunity cost
and cost of production.

D) the cost of resources
supplied by the owner. 6%

E) the cost of resources
owned by the firm. 13%
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33. Which one of the following statements is true?

& Poll locked. Responses not accepted.

A) All technologically efficient methods 5
are also economically efficient. 6%

B) All economically efficient methods
are also technologically efficient.

C) Technological efficiency changes 5
with changes in relative input prices. 19%

D) Technologically efficient firms will
be more likely to survive than
economically efficient firms.

E) Technological efficiency is more
important than economical efficiency.
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34. A firm that is technologically efficient

& Poll locked. Responses not accepted.

A) always makes an economic profit 5%

. B) must be economically efficient, but
a firm that is economically efficient is 89/
not always technologically efficient.

C) must be economically efficient, and a
firm that is economically efficient must l§ 304
always be technologically efficient.

D) is not always economically efficient,
and a firm that is economically efficient
is not always technologically efficient.

E) is not always economically efficient,
but a firm that is economically efficient
must always be technologically efficient.
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